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A convergent geometric series is given by 1 — 4x + 16x2 — 64x* +...

(a) Write down the range of possible values of x.

T |
Given that 2](—4;)"4 =24

(b) Calculate the value of x.
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‘The terms of a sequence are defined, forall k = 1, by u, = (—~1)* x k?
(a) State, with a reason, whether this sequence is increasing, decreasing, or neither.
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It can be shown that, for all n = 1,
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Using those formulas,

(b) Show that Z‘u,. =

xr
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The terms of a sequence are defined, for all k = 1,by u; = (1) x k?.

(a) State, with a reason, whether this sequence is increasing, decreasing, or neither.
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Given that Z‘(Sl —6r) = —943,

(i) Show that (3k +41)(k — 23) = 0

(ii) Hence, find the value of k.
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Given that 2. 7 x 3" = 620004,

log59019

(@) Show that k ==57
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(b) For this value of k, calculate Y. 7 x 3",
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Given that 2. 7 x 3" = 620004,

logs9049 _ |y

(@) show that k==

=3, a=2|
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(b) For this value of k, calculate 3. 7% 3.
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Giventhat ) (a+ (n—1)d) =—279 and ). (a+ (n— 1)d) = —585, find the values
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A convergent geometric series is given by 1 — 4x + 16x2 — 64x* +...

(a) Write down the range of possible values of x. 0) r
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